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AOAE + AODF
= AOAE + AOBE

— 10ABCD (- AOEB = AOFD)
= 4 x40=10 (em?)
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11. og IJ9eA nABCD & Ao, /EAD = 70°, AD = ED
A uff, /x o] 27]=7

@ 10° @ 15° 3@ 20° @25° ® 30°

OJABCD = ?ﬁx}ﬂﬁg o]E2 AD = CD = DE °]1 ADAE &
o] SHAIZIo| B2 /EDA = 180° — 70° — 70° = 40° o]t}
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th& 193 Zo] AD //BC )1 THATEE
ABCD 4] CD = 6cm, AD = 5cm, /A =
120° & ), DABCD €] &9 Zol& 5}
ofzt.

> E: cm

> HE. 28cm

~&B

ODAECD = HajAtdgdolBmg AD =
EC = 5cm
AABE = A4t7Ztgo]22 AB = BE =

6cm

11(cm)
OABCD 9 E¥& 5+ 6+ 11 + 6 = 28(cm)
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A D

B 35 INE

® 15° @ 20° ® 25° @ 30° ®)35°

~&B ~

AABC ¢} ADCB | A

AB =DC, /ABC = /DCB, BC= 2%
. AABC = ADCB (SAS 3H5)
(ACB = /DBC = 35°
AC//DE°|R&

/x = /ACB = 35° (592
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18. OABCD & Y JAIH G o] 1L A D
BC = CF, DC = CE°|t}h.
AAOD 9] Hol7F 5ecm? & o,
OBEFD 9] Yol & Faolal, 0
B ! et F
E
= cm?

>
> &HE D 40cm?

AAQOD = ;l x OABCDo| B2
ABCD = 2 x AAOD = 2 x 5 = 10( cm?)
OBEFD = 4 x ABCD

=4x10
= 40( cm?)




19. ©h& el A2 ABCD = AARzHo] D

1, A7 AFDE = B@ApAgolc}.

DE = 6xecm, AE = (3x + 2y)em, CF = 7
(14 - x)em & o, x +y o] 27

Q

AtZtg AFDE = B3P 0], AF = FD °|22 A4y
AFDE = "FE oo},
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20. tS 134 oABCD = AALZoltt. AE = FD , /CDG = 75°
A off, zx ©] 27]E Fotefet.
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AADE ¢} ADCF o4 AD = CD, AE = FD ©]1 /A = /D =
90° ©] 22 AADE = ADCF(SAS &%)

(EDA = /FCD = 15° o|t},

(DEA = 75°, /EGF = /CGD = 180° —15° — 75° = 90°°| 2. &
£x = 360° — 90° — 90° — 75° = 105° o]t}




